IlepedyeHb OCHOBHBIX JIeTAJIeH U V3J0B U316

“Anmapar cBapo4yHbIii HHBepTopHbIH ACH-160-02”

YTBepxkaaro

TexHuueckut JUPEKTOp
Amnncenkos A.O.

“« 7 2015 .

ITo3 | HaumeHoBaHue KOJI 29 Pamgmarop 36x39x50 1 48 IIaii0a 5 2
1 Iayp cereBoit L=1,5 m; 3x1,5 1 30 | Pagmarop 36x82x50 1 49 | Illaiiba npyxuHHAs 5 2

MM 31 | Buar M3x10 4 50 | Bont M8x12 2
2 OcHoBaHue 1 32 | IInactuna nzonupyromas 185x85 | 1 51 | Ila#iba npyxuHHAs 8 2
3 Bunt M4x12 4 33 | Brynka miactmaccoBast 4 52 | Illaiiba 8 2
4 OrpaxaeHue 1 34 Croiika JiIrHHAs 3aHS 2 53 Taiika M 14 2
5 Brixmouarens 25 A 250 VAC 1 35 | biok ynpaBieHus CUIOBBIMH 1 54 | Brynka 2
6 Bentunsarop 24 V 0.24 A 1 TPaH3UCTOPamMK B cOOpe 55 | Brynka 2
7 Iaiixa M4 8 35.1 | Perymsrop dopcaxa nyru 1 56 | Buat M4x8 (noTait) 2
8 Iaiixa M3 4 35.2 | Tpanzucrop GW45HF60WD 4 57 | Ilanens nepeaHss 1
9 Brynka uzosm. 4 35.3 | [Tnara ynpasnenust P2H2714A1 (¢ | 1 58 | Brynka u3071. KOpu4HeBas 1
10 | Bunr 4x10 (camope3) 12 YCTaHOBJICHHBIMH 3JIEMCHTaMN) 59 | Brynka u3om. yepHas 1
11 | Bunr M3x6 4 35.4 | Ilnara P2H2713A0 (c 1 60 | 3axum 2
12 ITposox K,L 2 YCTaHOBJICHHBIMU DJICMECHTAMH ) 61 Pyuxka perynsropa 2
13 | baok BeimpsiMuTens B cOope 1 35.5 | Tlnara P2H2712A1 (c 1 62 | laiika M10 2
13.1 | Pammarop 1 YCTaHOBJICHHBIMH 3JIEMEHTAMH ) 63 | Illaii6a 10 2
13.2 | Konnencarop 0,47 uF 400 V 3 36 | Buar M4x14 8 64 | Brynka pe3uHoBas 1
13.3 | ITmata P2H2711A0 (c 1 37 IInactuna 2 65 JlaMIT0YKH CBETOMUOIHEIE B 1

YCTaHOBJICHHBIMH 3neMeHTaM1/I) 38 Bunat M4x16 4 CGOpe
14 | IlpoBox D 1 39 | banka 2 65.1 | Mnaukarop neperpesa 1
15 ITposoa H 1 40 [Iposon F 1 65.2 | UaaukaTtop cetn 1
16 | Ilaiiba 3 17 41 | Crolika KOpoTKas 2 66 | Perymsarop Toka 1
17 | laitba npyxunHas 3 17 42 | Bunr M4x16 2 67 | Brynka pe3unoBas 1
18 | Buntr M3x6 13 43 | IlnacTuHa mpHXUMHAs 2 68 | Brynka 2
19 | [lnactuna m3onupytomas 63x85 |1 44 | T'aiixka M5 2 69 | 3axum 2
20 | Brynka 4 45 | BIOK BBIXOAHBIX CHJIOBBIX 1 70 | Kopmyc 1
21 | [lnactuna mzonupytomas 83x90 | 1 AMOZOB B cOOpe 71 | Pemens 1
22 IIpoox A 1 45.1 | Tlnata P2H2715A0 (c 1
23 | Pagmarop 36x90x50 2 YCTaHOBJICHHBIMH JJICMEHTAMH) CorracoBaHo:
24 | Bunat M4x8 12 45.2 | IlpoBox G 1 NHXeHep-KOHCTPYKTOP
25 [aii6a npyxunHas 4 18 45.3 | dpoccens 1 Ilerpos B.T.
26 | laiiba 4 18 45.4 | Tpamsucrop ESAD 92-02 6 VHKEHep TeXHOIOT
27 | [lnactuna uzonupytomias 50x37 | 2 46 | Kponmreiin 2 Camconos 1.
28 | Pagmarop 36x39x50 1 47 Bont M5x8 2




) amonn)

Aanapat cBapoYHbIN WHBEPTOPHBIA
ACM-160-02 (MMA)

69

I

tt
m
64

ACH-160-02
Jlucr 2




